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PreIB Algebra 2/Trig
Summer Assignment

Directions:

This packet should be completed by the first day of school.  Make sure to bring the packet to your teacher. If you do not have Algebra 2/Trig 1st semester, you are still responsible for tuning this in on the first day of school!!  
This assignment will be checked for completeness, not accuracy.  All problems should be done or well attempted.  Show work on every problem in the space provided.  Write neatly and box final answers.

Questions will be answered.
Solve each equation for the given variable.  Leave all answers as simplified fractions.  No Decimals! 
	1.   -5x + 3 = 8x + 9 – 3
	2.   34 = 2c – 4(2 – 3c)
	3.  
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(x – 4) = 8 + 2x
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Find the slope of the line passing through the given points.
	7.  (2, 4) and (8, 12)


	8.  (-5, 4) and (-5, 9) 

	 9.  (5, 2) and (3, 2)




Write the equation of the line in slope-intercept form with the given characteristics.
	10.  m = 5 and y-intercept of -3               
	11. m = 
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passing through (4, -5)


	12. Passing through (-5, 4) and   (3, -1)



	13.  Parallel to y = -4x + 2 passing through (2, -3)


	14. Perpendicular to 2x – 3y =  6 passing through
     (-8, 1)




Graph the following lines.

15.  y = -2x + 1

        16.  -4y + 3x = 12

    17.  
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y + 3 = x - 5


Solve the system of equations by graphing.

18.  x – 2y = -6

                                        19.  5x + y = -2 

     4x + 6y = 4
   
                                                         -10x – 2y = 4                           
Solve the system by substitution 
	20.  5x + 4y = 32
       9x – y = 33                

	21. 2x – y = 23
      x – 9y = -14   


	22.  - 3x + 6y = 21

         2x – 4y = 14




Solve the system by elimination
	23. 8x – 4y = -4

      4y = 3x + 14


	24. 4x + 3y = 2

      5x + 3y = -2

	25.  
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Set up a system of equations. Define your variables – then solve the system.
26.  A group of friends takes a day-long trip down a river.  The company that offers the tubing trip charges $15 to rent a tube for a person to use and $7.50 to rent a “cooler” tube, which is used to carry food and water in a cooler.  The friends spend $360 to rent a total of 26 tubes.  How many of each type of tube do they rent?
27. A rectangle has a perimeter of 18 inches.  A new rectangle is formed by doubling the width, w and       tripling the length l, with perimeter of 46 inches.

A. Write and solve a system of linear equations to find the length and width of the original rectangle.
B. Find the length and width of the new rectangle.

28.  Find the values of a and b so that the linear system has a solution of (4, 2).

ax –by = 4

by – ay = 10

Do the following problems WITHOUT a calculator
	29. -2 
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52 – 7(5 – 8)
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	34. 12 - 3
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Factor the following. If it can’t be factored, write “prime”.
	37. 3x2y2 – 13xy2 - 10y2

	38. 6x2 + 7xy – 20y2
	39. -12x2 + 27



	40. 14x3 – 77x2 + 8x – 44



	41. -3x2 – 10x – 3
	42. 6x2 – 5x – 4



	43. 72 – 32x2



	44. x2 + x + ¼

	45. 4x2 – 36



	46. 16x2 –64


	47. 4y3 – 7y2 – 16y + 28
	48. x2 + 16




Solve by factoring.

	49. (x + 5)(x + 2) = 40
	50. 6x3- 18x2 = 24x
	51. 
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	52. x2 + 5 = 8x – 10
	53. x2 – 10(x – 1) = -11

	54. 5x2 – 10x = 0



	55. 5x3 – 30x2 = -40x

	56. 2x3 – 10x2 + 40 = 8x

	57. 8x + 24 = 16x2




Solve 
	58. 
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	59. (x + 5)2 = 36
	60. 
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61.  The area of this right Δ is A = 119 ft2.       
        Find x.  Then find the base and height.   

                                                                                                    (x + 3) ft

                                                                                                                           (x + 6) ft

Solve and graph the solution on a number line.

	62. 3 – 2x 
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	63. 4x – 5(x - 3) > 3(x + 1) – 20


	64. 6x + 1 
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	65. -2 < 1 – 3x < 10

	66. 5x + 16  
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  31 or 8 – 4x < -12

	67. -6  
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 3x + 2  
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68. Given the following points:  A (-3, 7) , B (2, -5)

A.  Find the midpoint of AB.  (-1/2, 0)                        B.  Find AB (distance)
_________________________________________________________________________________
69.  Given f(x) = -3x2 – 4x + 1

A.  f(-2)



 B.  f(3)


C.  f(-1) – f(2)

__________________________________________________________________________________

70. You have $100 saved and plan to save $20 each month.  Write a rule for the amount saved (in dollars) as a function of the number of months from now.  Identify the independent and dependent variables, the domain, and the range.  How much will you have saved altogether 12 months from now?
___________________________________________________________________________________
Simplify the following – No Calculator
	71.  
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	72. (-2x3y4)3
	73. (2x – 5)2

	74. (5x – 7)(3x + 2)




	75. 5
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Solve each equation.

	90. 2
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96.  Evaluate  -x2 -3x + 1 when x = 3

Name:________________________________________
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